
1

903857 Shockmount set FR flex S990  
STEP 1 STEP 2

First of all replace standard bulkheads by the ones included in this set.. For adjusting the front flex characteristics add (rigid) or remove (flex) the carbon bracket.

First of all replace standard bulkheads by the ones included in this set..

3x6x1 M3x12

M3x12

M3x6
Flanged

3x6x1

3x5x2

3x5x2

FRONT SHOCKS DEFAULT POSITION

3 mmFor adjusting the shock angle add or remove shims.

M3x6 
Flanged

3x5x2



903857 Shockmount set FR flex S990  exp view

2

903859

110117
110449
1651 (NOT INCLUDED)

110172

903864

110410


